Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER- 111 « EXAMINATION - WINTER 2013

Subject Code: 3332405 Date: 06-12-2013
Subject Name: Linear Electronic Circuits
Time: 02:30 pm - 05:00 pm Total Marks: 70
Instructions:
1.  Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6.  English version is authentic.
Q1 Answer any seven out of ten.
1.  What is integrated circuit? Classify them.
2. Write full name of SSI, MSI, LSI and VLSI.
3. What is operational amplifier?
4. Draw pin diagram of IC 741 op-amp.
5. Define input offset voltage of an op-amp.
6. Define input bias current of an op-amp.
7.  Define gain bandwidth product of an op-amp.
8.  List open loop configuration of op-amp.
9. Define input resistance of an op-amp.
10. Define output resistance of an op-amp.
Q.2 (a) Explain the fabrication process of monolithic ICs.
OR
(@) Discuss the advantages and disadvantages of monolithic ICs.
(b) Explain working of instrumentation amplifier.
OR
(b) Differentiate between SSI, MSI, LSl and VVLSI.
(c) Draw the block diagram of an OPAMP and describe its various block.
OR
(c) Write short note on packages of integrated circuit.
(d) Explain virtual ground of an op-amp.
OR
(d) Differentiate between dc and ac voltage amplifiers.
Q.3 (&) Write short note on slew rate.
OR
(@ Write limitations of open loop op-amp configuration.
(b) Define power supply rejection ratio.
OR
(b) Draw and explain pin diagram of IC op-amp.
(c) Explain the working of differential amplifiers with one op-amp.
OR
(c) Explain the working of differential amplifiers with two op-amps.
(d) Explain working of voltage series feedback amplifier of op-amp.
OR
(d) Explain working of voltage shunt feedback amplifier of op-amp.
Q.4 (a) What are differential gain and common-mode gain of a differential amplifier?

(a)

OR
Explain working of A-D converter.
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Explain working of zero-crossing detector using op-amp.
OR

Explain the operation of op-amp as Subtractor and find out output expression.

Draw the circuit of an op-amp differentiator and integrator circuit, derive the
output expression.

Explain the working of transistor differential amplifier.

Describe characteristics of ideal OPAMP.

Write short note on CMRR.

Explain the operation of op-amp as summer and find out output expression.
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